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1. For the HCP crystal structure, show that the ideal c/a ratio of lattice constant is 1.633. (20%)

2. What is the coordination number of the FCC crystal structure?
Please draw a picture to explain your answer. (10%)

3. Determine the indices for the directions shown in the below cubic unit cell. (15%)
F4

0,0,1

4. Please explain the edge ~ screw and mixed dislocation. (30%)

5. Consider a single crystal of BCC iron oriented such that a tensile stress is applied along a [010]
direction. Compute the resolved shear stress along a (110) plane and in a [111] direction when
a tensile stress of 52 MPa is applied. (25%)



